M H[4H ZHAD - 2024 1E 18Y

= SR sgmy | oo | WS SRR
Mz AR (L/min) (f/co)

01 FAEAE LX-50 250 10.1 0.000 7|= ojgt
02 FABEAML 2 LX-50 250 10.1 0.001 7|= ojgt
03 FABAML 3 LX-50 250 10.2 0.000 7|= ojgt
04 FABAY 4 LX-50 250 10.1 0.000 7|z ojgt
05 g 1 LX-50 130 10.1 0.002 7|F O|gt
06 =27 HiET 1 LX-50 130 10.1 0.001 7|%F O|gt
07 7| HiETF 2 LX-50 50 10.2 0.001 7|& oot
08 =27 HiET 3 LX-50 50 10.2 0.001 7|F O|gt
09 =7| HiET 4 LX-50 50 10.2 0.001 7| oot
10 =Y7| BHETF 5 LX-50 50 10.1 0.002 7| oot
11 =%7| HiET 6 LX-50 50 10.1 0.002 7| oot
12 =7 Bz 7 LX-50 50 10.1 0.002 7| ojgt
13 SY7| HiET 8 LX-50 50 10.1 0.001 7| O|gt
14 7| HiET 9 LX-50 50 10.1 0.001 7|F O|gt
15 =971 HiET 10 LX-50 50 10.2 0.001 7|F O|gt
16 =27 HiET 1 LX-50 50 10.1 0.002 7|F O|gt
17 H7|& gHET 1 LX-50 50 10.2 0.001 7| O|gt
18 H7l2 22X1E 1 LX-50 50 10.2 0.000 7| ojgt
19 H7l2 22XH 2 LX-50 50 10.1 0.001 7|z o2t
20

21

22

23

24

25
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(E1tof §)

(PH/cm3)
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01
0.01

(PH/cm3)
0.004
0.004
0.003
0.003
0.004
0.003
0.003
0.003
0.003
0.004
0.003

(L)
1,010
1,010
1,010
1,020
1,010
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1,020

101 2|A

10.1
10.1
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10.1
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10.2
10.2
10.1
10.1
10.2

(L/min)

(min)
100
100
100
100
100
100
100
100
100
100
100
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